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Linear Equations in Two Variables

2 TR a1 HEd FgHlsoT

& ATERUMY 3R RO (Main concepts and result) > ¢ a#0,b=0,c=0 &I, A FHHT ax +by +c=0
» ax+by+c=0 3% ®U BT 7 FHHRT el a, BT ax=0 & ®I # for@r oam § Ffd x=0. J&f
b, ¢ arafds d@W §a#0, b#03R X,y UTh ¥ y-31ef BIT 2 |
TR B, T TR aTaTT RIPD THBRT HgATel 2 | Ifa#0,b=0,c=0.The equationax +by +¢c=0
An equation of the form ax + by + ¢ = 0 where a, b, .reduces to ax = 0 i.e. x= 0. The graph is the y-axis
care real numbers, a#0,b#0 and x, y are variables itself.
is called a linear equation in two variables. >  Afda=0,b#0,c=0. FHIHT ax + by te= 0
> AU W S FHeReT ax + by +¢=0 @ HCHR by =0 AT y=0 & ST § | T8l IH
g dedl 8, ol a, b, ¢ IR—g=g arafds T x-30 B |
T ¥ EBROT BT Bl BT ST B | Ifa=0,b#0,c=0. The equation ax + by + ¢ =0
Any pair of values under which satisfies the .reduces to by =0i.e. y=0. The graph is the x-axis
equation ax + by + ¢ =0, where a, b, ¢ are non-zero itself.
real numbers, is called a solution of the equation. > AT c=0 & d TR ax + by + ¢ = 0 TSR
> T R A Ue Rae e @ SuRfE o ax+by =0 8 ST 8| A% 7ot fig & ore
R P gl B E | arefl T X7 BNl & |
A linear equation in two variables has infinitely If ¢ =0, the equation ax + by + ¢ = 0 reduces to
many solutions. ax + by = 0. The graph is a line passing through
» 3l =R grel Rad FHIBRT & TH W qAS (45 origin.
Every poiar?tr c?:; tl?:rgjgl ffl a linear equation in Muﬁlﬁpulﬂe Choice Question
two variables is a solution of the equation. ( K] U SR
> UH WHHRU B w0 H ax + ¢ =0 BT W g@e ued @ fov ar feed Ry 17 & 3 @
I, T R H ax=-c 2 3R & R ¥ g Ay &1 a9 IR
ax+0ytc=0 & w9 H BT B Four options are given for each question. Select the
Geometric representation of ax + ¢ = 0 as an  correct option :
equation, in one variable is ax = -c and in two 1.  INgH FNHIUT 3x-11y=10 BT &:—
variable is in the form a.x + 0.y+c = 0. a.  ofed g b. < 8o
> AT a#0,c#0 3R b=0 FHBIT ax + by +¢ =0 . ard ol 4 o T T
Bl ax +c=0 & ®U H forar S1am & a1 9% b The linear equation 3x-11y=10 has:-
Al 1§ S y-318 & FHIAR BIAT © AR dg a.  Unique solution
< T b.  Two solutions
a T ¢ . c. Infinitely many solutions
Ifa#0,c#0and b=0. The equat1op ax + ‘t_)y + c= d. No solutions
0 reduces to ax .+ c=0or .The graph is a strallght_h(rzle 2 3x+10= 0 BT BNT—
Parallel to y-axis and passing through the point 2 N - b o Ea
» TR b#0,c#0 3R a=078 AT THET c.  oFd B 4 BIE = T
ax+by+c=0 P by+c=0 & ®T H for@r Srar 3x+10 = 0 will have:-
g AT ATH x 3T B AR BT § AR g _TC a.  Unique so}ution
I W arell T Al X Bl 2 b. Two 'solutlons .
Ifb#0,c#0anda=0. The equation ax + by + ¢ = ¢ Inﬁmtel}{ many solutions
0 reduces to by + ¢ = 0 or The graph is a straight line d. No solutions
parallel to the x axis and passing through the point —Tc 3. WHIEROT x-2y =4 BT EA B
a. (0,2) b. (2,0)
F&TT- 9 (IT0r) ==




c. (40 d (LD
The solution of equation x-2y = 4 is:-

c. Makes an intercept 3 on the x-axis
d.  Makes an intercept 3 on the y-axis

a. (02 b. (2,0 9. MO y =mx+cH, m:—
c. (40 d. (LD a. @S b. @
k&1 A9 S1d BIfY, afe x=1,y=2 qHidxor o TENET B EA 4 T § B 7 8
2x+3y=k &I & & & | In equation, y = mx+c, m is:-
a. 5 b. 6 a. Intercept
c. 7 d 8 b.  Slope
Find the \.falue of k,if x=1,y=2is a solution of c.  Solution of the equation
the equation 2x + 3y = k. d.  None of the above
a. ; 3 g 10. afe x @R y FHIHIOT ax+by+ce=0 D gD
c .
g ’ gdl €, Al g8 AT EIN:—
45 (3,4) whiaxor Jy=kx+7 & % W SN .
Rorg 2 | K &7 51 1 a. UIH TQATH b A AT H
4 o5 c. A Iguie H 4. ugel wguty
a 3 b. 3 If x and y are both positive solutions of equation
o 3 d 7 ax+by+c=0, always lie in the:-
I; 3 i b ’ 3h fth . a. Firstquadrant b.  Second quadrant
301ntk( _"_ 7) ;ils onlt ¢ gfr::? of the equation c.  Third quadrant d.  Fourth quadrant
= kx + 7. The value of k is:- .
Y 5 1. T =Xl 91l U s GHbRT ax + by + ¢
a. 3 b. 3 =0 ® ®Y BT erdl 8, Siel—
c. 3 d. % a. a=0,c=0 b. a#0,b=0
c. a=0,b#0 d. az0,b#0
M FHHROT X+2y =2 BT U6, y-3HET Bl A linear equation in two variables is of the form
foa fag w ufo=8T F=ar 28?2 ax + by + ¢ = 0, where:-
a.  (2,0) b. 0,2) a. a=0,¢c=0 b. az0,b=0
c. (0,1 d. (1, c. a=0,b#0 d a#0,b#0
The graph of linear equation x+2y =2, cuts the 12. x-31& WX B3 H ﬁ{{, foa wu &1 gHar 87
y-axis at:- a Xy b. (0,y)
a. (2,0 b. (0,2) c. (x,0) d (xXx)
c. (0,1) d. (1,1) Any point on the x-axis is in the form of :-
RET x=y R $Ig Al g 38 g&R &1 I a.  (x,y) b.  (0,y)
2 c. (x,0) d (xx)
a. (k,k) b.  (0,k) 13. y-31g R dig Hf f§g 9 wu <71 8ar 27
c. (k0) d. (kk) a Yy b.  (0,y)
Any point on line x =y is of the form:- c. ) d. (x,0)
a.  (k, -k) b.  (0,k) Any point on the y-axis is in the form of :-
c. (k0) d. (kk) a Yy b.  (0,y)
Xx=3 & ITh Udb & B:— c. &) d &0
a 7@ Rg 93 A A 8 R xom d 1 ’\’mﬂ*ﬁaﬂ:ﬁh—@ﬂ @1 8-
REIBINN a. gef
b. Hol g A 3 3B @ g R y-3kEd D b. s &
AR c. @&
. X3 W ITES 3 I ¥ CTLh 13,[3 Ewﬁ;ﬁ'—“ﬁgﬁ .
d y-3ET R S 3 3 e linear eq}latlon X — S5y =7 has :-
The sraph of x = 3 is a line: a.  No solution
grapli ol x=J1s a finez= - . b.  unique solution
a. Parallel to the x-axis at a distance of 3 units .
from the oriei c.  Two solutions
om the ongin - . . d.  Infinitely many solutions
b. Parallel to the y-axis at a distance of 3 units
from the origin
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15. ad Gfidvor 3x—y=x-12:— 20. Ifg (2,0) INad FAHIOT 2x + 3y =k &T &
a. ®IS & TE 2, @ kdT "M i
b. 3fgda & a. 2 b. 4
c. A Bd c. 5 d 6
S If (2, 0) is a solution of the linear equation 2x +
d . '\’W ¥ o 3y =k, then the value of k is:-
The linear equation 3x —y =x —1 has :- a2 b 4
a.  No solution c. 5 d' 6
b.  unique solution . . ’ -
c.  Two solutions 21. S R A a6 INgd B0 2 (ST a 3R
d. Infinitely many solutions b T AR B)—
16. Ngd GHHROT 2x + 3y = 6 BT Y6 y-31&T BY a. ax+by+X=0 b. ax+by+¥Y=0
a 2,0) b (0, 2) The standard linear equation in two variable is
c (3’ 0) d (0’ 3) ( where a and b not zero)
The graph of the linear equation 2x + 3y = 6 a. ax+by+ >E: 0 b ax+by +Y:9
cuts the y-axis at the point. c. axtbytce=0 d. ax+byXY=0
a. (2,0 b.  (0,2) 22. MEs HiHRoT 98 Gl @ forwal urd
c. (3,0 d (0,3) gidl 28—
17. BT 2x + 5y =7 BT TP Ifgda g 2, a. 0 b. 1
Ife x,y Bi— c. 2 d. smuRyfg
a.  ORAT g b. IRdfdd G The linear equation is that equation whose
c. UIpld Gl d gD dRdidds R degree is:-
The equation 2x + Sy = 7 has a unique solution, a. 0 b. 1
if x, y are:- c. 2 d. Not defined
a. Rational numbersb.  Real numbers 23. 39 GHIHRT 6x -5y -7=0 |
c.  Natural numbers d.  Positive real numbers a. a=6,b=-5c=7
18. (a,2)® ®U BT fig shem Rerd grar 8- b a=6,b=5,c=-7
a X x+y=0W b Wly=x ® ¢ 66507
’ ) d a=6,b=5c=7
c. x-S d. y-oEf In this equation 6x -5y -7= 0
The point of the form (a, a) always lies on:- a. a=6,b=-5c=7
a. Onthelinex+y=0 b. a=6,b=5,c=-7
b. On the liney =x c. a=6,b=-5c=-7
51' Xaxis d. a=6,b=5c=7
RN 24. 59 GHFROT \5x +7= Ty
. . . y
19. 3afe 9 fedl INgs gfiexor @& 47 var a. a=5,b=-7.c=7
® TH & R— &1 | I AT AR W, b. a=V5,b=7,c=7
al INgd FGHHT BT gli— c. a=V5b=7,¢c=-7
a. URafdg =g} 8T & d. a=\/§,b=—7,c=0
b, uRefid & unar 2 In this equation \5x +7= -7y
' . a. a=\5,b=-7,¢c=7
C. El;EIE’ 1.0; Eﬁﬁ{)ﬂ%{ﬁqia%f gsl—(”% b. a:\/g,b:7,C:7
If we multiply or divide both sides of a linear d. a=V5,b=-7,¢c=0
equation with the same non-zero number, then 25 —4®) < TR BT N @ o oy
;he s‘g‘e‘::l‘:l‘ ‘S’fﬂtll;esllrﬁzar equation:- a.  X+0Y-4=0 b.  X+0Y+4=0
. n
b.  Changes c. X-0Y+4=0 d. bR caml
c.  Changes in case of multiplication only X= -4 can be written in two variable form as
d.  Changes in case of division only a.  X+0y-4=0 b.  X+0y+4=0
FET- 9 (If0re) —




c. X-0y+4=0 d. Bothbandc

26. y=8@®I 3 aX ®©U H for@l T AHar 2 | 31.
a.  Oxty-8=0 b.  0x-y-8=0
c. Ox+y+8=0 d.  Ox-y=8
y=8 can be written in two variable form as
a.  Oxty-8=0 b.  0x-y-8=0
c. Ox+y+8=0 d.  Ox-y=8

27. 39 aHiexer § x+%y+2=0,a,b AR ¢ T

2

a a=1, b= §,0=2 32.
b a=3,b=2,¢c=6
c. a=l, b=—% ,c=2
d aand b g4I
In this equation x +%y+2=0 ,a,band c are
a. a=1,b= %,c=2 33.
b. a=3,b=2,c=6
c. a=1,b=— %, c=2
d. Bothaandb

28. Tl =R a1 UH ad gl & gl
BId 2 |
a. I
b. IURMT ®U I 3FH & 34.
c. fgd ga
d. bR c Tl
A linear equation in two variables has
solutions.
a. Zero
b. Infinitely many solution
c.  Unique 35,
d. Bothbandc

29. HIHRUT x +2y=6 BT & B:im
a.  (2,2) b. (0,3)
c. (6,0 d. ¥
The solution of the equation x +2y= 6 is:-
a. (2,2 b. (0,3)
c. (6,0 d Al

30. GBI X+Y=2 BT 8:—
a. ®Is B Aal
b. aifgd g
c. T EA 36.
d. URMT wU 4 3FF &
The equation X+Y=2 has:-
a.  No solution
b.  unique solution
c.  Two solutions

FET- 9 (Tfora) (32

d.  Infinitely many solutions

ST 2 +2x +7=0 BT B:—

a. IS 8 8 b, g 8A

c. TIEd d  3RFT T A3 8
The equation x*> + 2x +7= 0 has:-

a.  No solution

b.  unique solution

c.  Two solutions

d. Infinitely many solutions

(3,1) THYHRUT BT B B:—

a. 2x-y=7 b. 2xty=7
c. 2xty=-7 d 2x-y=—-7
(3,1) is the solution of the equation:-
a. 2x-y=7 b.  2xty=7
c. 2xty=-7 d 2x-y=—-7

fr=fafRaa & @ @9 a1 FhaRoT xH2y= 4

®I & 2] © |

a.  (0,2) b. (4,0

c. (-2,3) d (L)

Which of the following is not the solution of
equation x+2y= 4

a.  (0,2) b. (4,0

c. (-2,3) d (L)

Ifg x=-2 3R y=3 ST x+2y=k &1 B
2 d k&I A g —

a. 8 b. 4

c. 4 d 2

If x= -2 and y= 3 is the solution of equation
x+2y=k then value of k is :-

a. 8 b. 4

c. 4 d 2

9z fdg <l & v@r & aHfiavor & qq<
$ar @ &1 3pef d—

a. I8 99 @ W Rerq ®

b. UE 9W @ W & ©

c. a3k b qMl

d. @I T8l

The point which satisfy the equation of a line
means:-

a. It lies on that line

b. It does not lies on that line

c. Bothaandb

d. None

Ife oIz 45 (a,b) v&@1 ) Roya @ al sHT
Jief B

a. x=a,y=b b. x=b,y=a

c. x=-ay=-b d x=-b,y=-a

If a point (a,b) lies on the line that means:-

a. x=a,y=b b. x=b,y=a

c. x=-ay=-b d x=-b,y=-a




37. oIs W fag 1 99 Y@r ) Reya w81 @ &1 b.  Not passing through origin
aref - c.  Parallel to x-axis
A g Wl b Gl b A Pl 3 d.  Parallel to y-axis
b, R T B AR B W A gy g 4% y=x TE @R R
c.  aalR b ot a. 3AlE b. @Y R
d. @IS T8 c. QId 3FEd 7 d. oRwifya =8 €
Any point which does not line on the line means:- y=x is the line whose:-
a. It satisfy equation of line a.  Slopeis 1 b.  Slope is zero
b. It does not satisfy equation of line c.  Slope is infinity ~d. Not defined
c. Bothaandb 44. @I x=a T B—
d.  None a.  x- & D FHAMR Teb AT X |
38. @ = ¥ Waw wHHvr &1 safada fAeger b. y- & & AAMIIR Udb AL T |
T 2?7 c.  Xx- 38T P FHBR|
a. JETNHGRE b, IS TH ¥4 ® d. y- 31T &7 FHERT |
c. U8 THdhe d IBUH Il v@r g The line x = a shows:-
What is the geometrical representation of linear a. A straight line parallel to x- axis
equation in two variable. b. A straight line parallel to y- axis
a. Itissquare b. Itisacube c.  Equation of x- axis
c. Itisacurve d.  Ttisastraight line d.  Equation of y- axis
39. y=mx @l B 45. @I y=b <uidl 2:—
a. Sl go fdg 4 &1 ToRer & a.  X- 3T & FHMIGR T W T |
b. Sl x-31eT & FHAMIGR & b. y-31T & HAMIGR U AT @ |
c. Wl y-3ie & FAFKR T | c.  X- 31&T BT FAHIGRT |
d. S 9o ¥ bR Toikdl & d. y- 3T B FHHR|
y= mx is the line:- The line y= b shows:-
a.  Which does not pass through origin a. A straight line parallel to x- axis
b.  Which is parallel to x-axis b. A straight line parallel to y- axis
c.  Which is parallel to y-axis c.  Equation of x- axis
d.  Which pass through origin d.  Equation of y- axis
40. y=mx-+c® GHIHROT ¥ m B:— 46. <1 9% 9relT Ueh Nad wfievor 2
a. x9S b. y-3<ES a. db b. W
c. B d. @IS T8l c. rdgd d. W= W
y= mx +c in this equation of , m is:- A linear equation in two variable is the:-
a.  x intercept b. y intercept a. Curve b.  Parabola
c. Slope d. None c.  Ellipse d.  Straight line
41. Gl y=mx+c & NPT A, ¢ <oriar 8— 47. @ a1 A A @1 BT GHDHROT B
a.  x-3EsS b. y-3<ES a. IR P b. fgama
c. QI d. @IS &l c. ©d d s
In the equation of line y= mx + ¢, ¢ represents:- The equation of straight line in two variables is:-
a.  xintercept b.  y intercept a. Non linear b.  Quadratic
c. Slope d.  None c. Cubic d.  Linear
42. y=mx+c YET Bi— 48. 39O IURMT ©U q 3P B &
a. Yol fdg A ToR drell a. @ W H gD FHepRor
b.  Helfdg ¥ & ToRA drell b. U = ¥ feEmd wHibRor
c.  x-3I&T b FAMIR c. TUdhd T H U FHHIU
d. y-31& & AR d. &g &l
y= mx +c is the line:- There are infinitely many solutions of:-
a.  Passing through origin a.  Linear equation in two variable
F&TT- 9 (IT0r) —




49. Af @1 &1 IHNHIT ax +by +c=0 2 @
SUDT ol Bi-
__b _b 55.
a. m=— b. m=
_a __a
c. m=y d m= b
If the equation of line is ax + by + ¢ = 0 then its
slope is:-
_ b oo b
a. m a .om=
_a __a
c. m=y d m= b
50. W1 $T &l 5x-10y+6=0 B:—
56.
a. m=2 b. m=-2
c. m= % d m= -%
The slope of the line 5x-10y+6=0 is:-
a. m=2 b. m=-2
_ 1 —_1
c. m=5 d m=- 5
51. @I 2x +6y=0 &T &Tdd B:-
1 b ome. L
a. m= 3 . m= - 3
c. m=3 d m=-3
The slope of the line 2x +6y=0 is:- 57.
_1 __ 1
a. m=3 b. =-3
c. m=3 d m=-3
52. Afe QT YWY UH §ER WX d9dd & SADI
ed m, 3R m, @ @l :-
a. mXmz=-1 b. m-m=1
m; _
¢, 1 d. mxm=1
If the two lines are perpendicular to each other
then their slopes are m, and m, then:-
a. rn><rn—-1 b. m-m=1 58.
=1 d  mxm=1
53. aﬁﬁ%mwﬁﬁmﬁmﬁ?ﬁ%—
a. SRR
b.  WRMER &I
C. Udh QX Dl FRUMHD b H
d @5 T2
If the two lines are parallel then their slopes are:-
a. Equal
b. Notequal
c.  Negative reciprocal of each other
d. None
54. Afe <1 REMRT BT STl T §HR BT K UITHD
b & dl 98 Y@ Eidl 8- 59.
a. AR b.  ofdad
FET- 9 (101 (25 )

b.  Quadratic equation in one variable
c.  Cubic equation in single variable
d. None

c. wied d.  9Rw\fEa =8t

If the slopes of two lines are negative reciprocal
of each other then that lines are:-

a.  Parallel b.  Perpendicular

c. Intersecting d.  Not defined

Ife < Y@ &1 ed RIER @ Al 39dT
Aadd 2 & A =g 38—

a. ofgdd b. AR

c. ufresdl d. aﬁs‘ GH

If the slopes of two lines are equals that means
these lines are:-

a. Perpendicular b.  Parallel

c. Intersecting d. None

gfe fodfl I@T &1 Sl -2 & a S99 W
A IWT BT ol 8:—
a. 2 b.

L
c. > d.

If the slope of a line is -2 then the slope of line
perpendicular to it is:-

1

a. 2 b. 3

c. -1 d. -2
2

gfe fed XE@T &1 STl 5 2 d SUD IAHIAR

I@T BT STA B

a. 5 b. -5
c. 1§ d - %

If the slope of a line is 5 then slope of the line
which is parallel to it is:-

a. 5 b. -5

1
2
2

1
C. ?
ﬁﬂﬁﬁ@‘lﬁ?ﬁﬂﬁﬁ%@ y=mx geredY 8-
a.  GFIHP STl 3R I§ AR AR = =geier
# Rera ®
b. oD @Tel 3R I8 el R AR Agere
# Rera ®
c. DI YAHD T

d. ®ad RUTHG Qe

The line passing through origin y=mx shows:-

a. Positive slope and lies in the second and
fourth quadrant

b.  Positive slope and lies in the first and third
quadrant

c.  Positive slope only

d.  Negative slope only

el fa=g A [oRA arell @1 y =- mx il
2l




a.  ZRUTHD S IR AR AR A1 =rgeier § a. 1 b -1

Rerd _ c. 17 d. -17
b. ?%S%q’;“” IR Tt SR <R gt 66. Uzdl 3R R agafe ¥ Rea yar o1 g1
c. ®Had gAHD FAM &
d. dhdel RUNTHD ool a. FATHD b. FUMHD
The line passing through origin y=-mx shows c. adRb Ml d. &g T8l
a.  Negative slope and lies in the second and The slope of the line which lies in first and third
fourth quadrant quadrant is:-
b.  Negative slope and lies in the first and third a. Positive b.  Negative
quadrant c. Bothaandb d. None
c.  Positive slope only 67. TER AR A ggAly ¥ Rea ¥@m &1 e
d. Negative slope only 3
60.  x-%I&1 BT GTel & a. oATHD b.  OTES
a 0 b. 1 ' _— :
. ) c. adRDbaH d. &g T8l
c. UReIfe :'_Eﬁ ) d. 3 The slope of the line which lies in the second
The slope of x-axis is and fourth quadrant is:-
a. 0 b. 1 ) a.  Positive b.  Negative
c.  Not defined d.  Infinity c. Bothaandb d.  None
61. y-31& BT QI 2 68. @I BT ST AT [HAT TCT B
a. 0 _ b1 _ a. m=tand ¥ b. m=-tand A
c. TR :'_Eﬁ ) d. 3 c. m=sinf ¥ d. m=-sind¥
The slope of y-axis is:- The slope of the line is also given by:-
a. 0 b. 1 a. m=tanf b. m=-tanf
c.  Not defined d.  Infinity c. m=sind d. = -sind
62. X@WT x+y=7P Slel B 69. afx fig (3,4) TNPBROT 3y=ax+7d ITH W
a. 1 b -1 Rera 2, @ a &1 w19 8hm—
The slope of the line x+y= 7 is:- 3
3 1
a. 1 b. -1 C. ? d. 5
c. 0 d.  Infinity If the point (3, 4) lies on the graph of the
63. @I 2x-y=0 &I ST o:— equation 3y = ax + 7, then value of a is:-
a. -2 b. 2 5
1 . | a. 0 b. 3
C. 2 . - 7 . i d L
The slope of the line 2x-y= 0 is:- 5 2
a. 2 b. 2 70. x-31&T AR y-34& Th AR D A1 HIVT g4
C 1 d 1 ﬁ':—
2 2 180° b, 90°
——— a. .
64. @l x6+y—6 By aat;iérsg;?. . 2700 4 360°
& _1 ’ | The x-axis and y-axis are making angles with
¢ % d. - 13 each other :-
The y intercept of the line x+y= 6 is:- a. 180° b.  90°
a. -6 b. 6 c. 270° d.  360°
. % d ‘lg 71. A x =2,y =1 GH@RT 2x + 3y =k BT U &l
65. W y=-x +6 BT &Tcl 8:i— 2, @ k&I |19 8IT—
a1 b. -1 a. 4 b. 5
C. 2 . - _ _ . . .
2 If x =2,y =1is a solution of the equation 2x +
The slope of the line y=-x +6 is:- 3y =k, then value of K is:-
HaTT- 9 (o) (e
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d
Very Short Answer Question
(erfa org S geA)
Rgd FHHT x —2 =0 B 317 & AHAIAR &7

Linear equation x — 2 = 0 is parallel to which axis?

2l U HYF B E @ fog 1 W H U
g FHH0T forRay |
The cost of a notebook is twice the cost of a
pen. Write a linear equation in two variables to
represent this statement.

Short Answer Question

(erg S<a )

2. AR (1,-2) AR 2x —y =p BT &A &, AN p B o
o = A | 1. f=faRad WRaw el o ax +by +¢c=0 &
If (1, -2) is a solution of the equation 2x — y = p, U aﬁﬁ BT 3R 7w Rftr # a, b3l ¢
then find the value of p. @ A9 3R BT
. . - y .
3. 4 -3y=—T7®ax+by+c=0% Y § I PN (i) x-735 -10=0 (i) -2x+3y=6
< (i) y—-2=0
Express il 3y =—7 in the form of ax + by + ¢ =0. Express the following linear equations in the form
4 SRaF BT 2x — 3y = 12 @ o T o ax + by + ¢ = 0 and indicate the values of a, b and
' Y ¢ in each case:
| () x- % —10=0 (i) -2x+3y=6
Find the two solutions of the linear equation 5 y
2x — 3y = 12. (iii) y-2=0
5. m @ AF S W AR (5,8) WG 1x-2y=3m 2. (2 14 TORA w7 XA B G
Find the value of m if (5,8) is a solution of the Give the equations of two lines passing through
equation 11x — 2y = 3m. (2, 14). How many more such lines are there, and
6. g8 X WHIeRU o SIY R U1 WR why?
q@zﬁﬁgzﬁzﬁ%w—cﬁﬂa@[3wgﬂ 3. Rg®d FHHIOT 2x 43y =6 BT UTH FT 87 T
Write the linear equation such that each point on y-31eT ®I foba ﬁg TR gfaes HRal 87
its graph has an ordinate 3 times its abscissa. What is the graph of the linear equation 2x +3y =6 ?
) N ~ At which point it cuts the y-axis?
7. et R H RN @1 faRRT s UaR 2 R W _ P Y yax
WE?EE%IQW?S@?WWG%@ 4, aﬁﬁg(3,4)ﬁm3y=ax+7?ﬁww
& forg %5 97 forcilio @ | 1 ¢ 0 @ x fRerd &, it a @1 A S | |
Rt i el BT 3 v A = 5 If the point (3, 4) lies on the graph of the equation
& forg ® o y R .§Q, 3y =ax + 7, find the value of a.
TUdh Xgh HFH[DNIT TolY | el . & .
The taxi fare in a city is as follows: For the first - q B A I B SR
kilometer, the fare is X8 and for the subsequent y=3x+5 T &
distance it is X5 per km. Taking the distance (i) UB Srfgd g, (ii) Pae aT &,
cover§d as x km gnd total fare as X y, write a linear (i) ITARMT ®U & 3FF &
equation for this information. Which one of the following options is true, and
8. f=feRad WRasw wiaxer g4 & & @l A& why?
FIT8? x+2y—8=0 3R 2x+4y=16? 'y=3x+5 has: ) . )
What is the number of solutions of the (i)  aunique solution, ~ (if) only two solutions,
following pair of linear equations? x +2y -8 =0 (iii) ~ infinitely many solutions
and 2x +4y =16?
] Long Short Answer Question
9. frfeRaa wiidvel @ ferv IR ger forfdg (&ref oy ST gw)
2x +y=1.
Write four solutions for the following equations: 1 gfy (2,3) 3R (4, 0) THHRT ax +by=1 B UTH
x+y=T. R Rerd €1 a3k b &1 79 s1a #INW | 39
10. UP AlCgd &I HIFd Y U B HHFd A SR YHR U FHIBRT BT TTH G |
FET- 9 (101 (=7




If (2,3) and (4, 0) lie on the graph of equation
ax + by = 1. Find the value of a and b. Plot the
graph of the equation obtained.

2. UP B AW e W FEfaRad G ieRon & b
Ei'%le=4,X=2,y=13ﬁ—\’ y-3=0.39 YR
UT%T 3TTpiel BT 9 Ty |
Draw the graphs of the following equations on the
same graph sheet: x=4,x=2,y=1 andy +3=0.
Name the shape formed from this.
3. 2x+3y=6 TH A% g Fulid S | 859
fig & s ford STEf a1® fAear &
(a) x-3%8T 3 (b) y-3ET |
Represent 2x + 3y = 6 by a graph. Write the
coordinates of the point where it meets:
(a) x-axis (b) y-axis
Very Short Answer Question
(arfa org S ueA)
le 2a 3c  4d 5.b 6.c 7.d
8b 9b 10.a 11.d 12.c 13.b 14.d
15d 16b 17.c 18b 19.a 20.b 21.c
22b 23c¢c 24b 25d 26.a 27.a 28.d
29.d 30d 3l.c 320D 33d 34b 35.a
36.a 37b 38.d 39d 40.c 41.d 42.a
43.a 44b 45a 46d 47.d 48.a 49.d
50.c 51b 52a 53a 54.b 55b 56.b
57.a 58b 59.d 60.a 61.c 62.b 63.c
64.a 65b 66.a 67Db 68.b 69.b 70.b
71l.c
Very Short Answer Question
(erfa org S yeA)
1. y-31&T
y-axis
2. g (1,-2) F¥aRT 2x —y =P WR Rerd 2|
' 2x1 —(-2)=P
= 2+2 =P
P=4 Ans.
Point (1, —2) lie on the equation 2x —y =P
' 2x1 —(-2)=P
- 2+2 =P
— P=4 Ans.
X
3. 4 Jy=-7
x_3y .7
- 4 1 + 1 0
x— 12y +28
. _
4
FET- 9 (If0re)

= x—12y +28 =0 Ans.

o T & 2x—3y=12
= 2x—12=3y
2x—12

= y= 3

2X0—12
AAx=0,y="3

=—2
Geell gel = (0, 4)/
Ans
ST &l = (3,-2)
Given : 2x — 3y =12
= 2x—12=3y
_2x—12

2X0—12
Ifx=0, y="—3

1**solution= (0, —4)
2" golution= (3, —2/ Ans

(5, 8), AT 11x - 2y =3m &I Tb & 2 |

. 1IX5-2x8=3m
= 55-16=3m

= 39=3m

= mzﬁ
3
m =13 Ans.




" (5,8) is a solution of equation 11x - 2y = 3m

According to Question

" 11x5-2x8=3m x =2y
— 55-16=3m x-2y=0 Ans.
= 39=3m Short Answer Question
=>m233_9 GEESHLE I ES))
m =13 Ans.
LG F-%-10=0
6. 3x—y=0 Ans
Sx—y—350
7. Rarmare @ & T Q@ =x = s =0
y=8+5x(x-1) ax+by+c=0¥ Tl B W IR &
z gzgigi_s a=5b=-13Rc=-50Ans.
—5x+y-3=0
oy i T-5-10=0
5x—y+3=0 Ans.
5x—y—50
Given, total distance covereel = x — % =0
Total fare = Xy _
— y=8+5(x-5) = Sx-y-30=0 -
— y=8+5x-5) camparing with ax + by + ¢ =0, we get.
—  y=3+5x a=5,b=-1and c=-50 Ans.
= Sx+y-3=0 (i) —2x+3y=6
5x—-y+3=0 Ans. — 2x+3y-6=0
8. IFd, Infinitely many ax+by+c=09 SRl P W U 7
9. U 2x+y=7 a=-2,b=33Rc=-6Ans.
y=7-2x . B
i) -2x+3y=6
A x=0,y=7-2x0=7-0=7 (@) - éﬁ} o
g x=1,y=7-2x1=7-2=5 Y
R x=—1,y=7-2x (-1)=7+2=9 camparing with ax + by + ¢ =0, we get
IR x=2,y=T7-2x(-2)=T+4=11 a=-2,b=3andc=-6 Ans.
3t (0,7), (1,5), (-1,9) 3R (2, INTIR &A &1 (i) y-2=0
= 0.x+y-2=0Ans.
: 2x+y7=72 ax + by +c¢ =0 ol B W U &
y=/—2x _ _ _
Ifx=0,y=7-2x0=7-0 =7 a=0,b=13Rc=-2Ans.
Ifx=1,y=7-2x1=7-2=5 (i) y—-2=0
Ifx=-1,y=7-2x(-1)=7+2 =9 = 0..x+y.—2=0Ans.
Ifx=-2,y=7-2x(2)=7+4 =7 camparing with ax + by + ¢ =0, we get
Four Solutions are (0, 7), (1, 7), (-1, 9) and (-2, 11) a=0,b=1andc=-2Ans.
10. &1 & & Al g8 & S = x® 2. Tx-y=0
AT {5 B U B BT = v l4x-2y=0
x =2y JFd /3P Ans
Xx-2y=0 Ans infinitely / many. Ans
Let cost of a note book be Rs. x 3. Rgd AR 2x — 3y = 6 BT UTH el X
Let cost of a note book be Rs.y T |
FET- 9 (Tfora) (20




VU 2x—3y=6

1
= 2x0+3y=6[y-3% W x =0] = S t3b=1
— 3y=6 -1 _1
yg_ - 3b—1 2—2
. po L
31T TE T y-318 B g (0,2) W ufress 16 |
PR | Soa= £ 3IRb=¢ Ans

Graph of equation 2x — 3y = 6 1is a straight line. - Point (2, 3) and (4, 0) lic on the equation

2x—-3y=6 ax+by=1
— 2x0+3y=6 S 2a43b=l... (i)
= 3y=6 and 4a+0=1
= y=2 = 4a=1
. The line will cuts the y-axis at (0,2). s a- %
fa=g (3, 4) FHIBROT 3y = ax +7 @ IT% R Rerd Putting the value of a in eq (i)

2l

— 22Xy +3b=1
= 3x4=ax3+7

— 12-7-3a — S+3b=1
= 5=3a 3b= 1 11

a=% Ans. - 71 22

. . . = b=y
".” Point (3, 4) lie on the graph of the equation 1 1
3y =ax +7 a= 4 and b= & Ans.

3x4=ax3+7
= 12-7=3a 2. .
= 5=3a Y

5 o V' N V' N

a= 3 Ans. i
- far T e EReT Q1 TR arern WRadw N
FHIERT 2 | . Holg | s
.. TEHWT F SURAT w9 A oFE & B | & ,%,55,105 : g,'% i

6 -5 4 -3 2 -1 fh 6
" Given equation is a linear equation in two -
variable N
- =3 b y=-3
.. It have infinitely many solutions. o€ D ’
-5
Long Short Answer Question i B P A
(el 3T 9eA) vV
‘Vy'

Agfd &1 M = ImAd
f37g (2.3) 3R (4.0) FHIPRIT ax + by = 1 & ITH Name of figure = Rectangle
W Rerd 2|
Jo2a+3b=1 ... (1) 3. 2x+3y=6
3R 4a+bx0=1 I x=0, 2x0+3y=6
= 4a=11 — 0+3y=6
= a=7y = 3y=6
T (i) # a BT AT W R :y:gzz

1 -
= 2Xy+3b=1 g 2x+3y=6
HaTT- 9 (o)




IE y=0, 2x+3x0=6
= 2x+0=6

= 2x =6

=>x:7=3

X (o] 3

y 2 0

2x+3y=6

If x=0, 2x0+3y=6
= 0+3y=6

= 3y=6

— y:gzz
2x+3y=6

If y=0, 2x+3x0=6
= 2x+0=6

= 2x =6

:x:%=3

FHaT- 9 (1fore)






